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Chapter 07 A&5TA| E9]
7.1

n=12 4%

a=c=05000 — x
b — b =1.0000
| —x, [=0.2729

n=2% 4%

a=c=0.7500 —» x,
b — b =1.0000
| —X, |=0.0229

n=3% 4%

b=c=08750 — Xx,

a—a=0.7500
| @ — X, |=0.1021

n=42% 7%

b=c=08125 — X,
a— a=0.7500
| ¢ — X, |=0.0396

n=5% 4%

b=c=0.7813 — X,
a— a=0.7500
| @ — X, |=0.0084 < 0.0090
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e F3E [, 21004 3R] FE7F v AL fr(x)>001™ Foldl 3 uiel AL
3 o] A A Wk f()=1+2-5=-2 ¢ {(2)=8+4-5=7 ] A
f@) - f(2)<09 xxlo] ol =9 Fo7} up¥a w3k ¢ f(x) & "2
fr(x)=3x*+27} FoIx 3 [1,2]°0A4 x 9 S71Er7t HBE o] EA g
n=19 2%

b=c=15000 — x;
a—a=1.0000

n=22% 4%

a=c=12500 — Xx,
b — b =1.5000

a=c=13125 > x,
b —b=1.3750

a=c=13281 — X,



7.3

Command Window

»» bigect(1,2,1.0E-6,6,2)
iteration =

1, 0000 1. 0000 2. 0000 1. 5000 1.3750 0, 5000
iteration =

2. 0000 1, 0000 1. 5000 1.2500 -0.5469 0.2500
iteration =

3. 0000 1, 2500 1.5000 1. 3750 0. 3496 0.1280
iteration =

4., 0000 1. 2500 1.3750 1.3125  -0.1140 0.0625
iteration =

5. 0000 1.3125 1.3750 1.3438 0.1139 0.0313
iteration =

§.0000 1.3125 1.3435 1.3281 -0.0010 0.0156

7.4

7] 7 Mo AL x, =2.0000 Z x, =1.00000.2 Fi1
X, 1.0000 — 2.0000

X, = X, — f (%) ——2%0___1,0000 - f(L.0000)- _1.2022
F(x)— f (%)  (1.0000) — f (2.0000)

X, = X, — f(X,) fxz;xl _1.2022 - f(L.2222) 2222 ZLO000 4 50
%) f(x) f(1.2222) - f (L.0000)

Xy =X — F (X)) ——9 %2 _ 13499 _ f(13499). 1D 712222 ) 5

' f(x:)— f(x,) f(1.3499) — f(1.2222)



7.5

Command Window

»» gecant(2,1,1.0e-6,6,2)
iteration =
1] 2 7
iteration =
1.0000 1.0000  -2.0000 0, 2222
iteration =
2. 0000 12222 -0.7295 o127
iteration =
3.0000 1.3499 01896  -0.0229
iteration =
4.,0000 1.3270  -0.0034 0.0013
iteration =
5. 0000 1.3283 -0.0001 0. 0o0a
iteration =
&. 0000 1.3283 0.0000  -0.0000
7.6
X +2X, —5
X, = Xo — =1.3429
3Xg +
3
X, =% — 9K T 38
3x; +1
3
X, =x, — XX =1 _q 3983



7.7

Command Window

=» newton(1.5,1,0:-6,6,2)
iteration =
0 1. 5000 1,370 g8.7e00 0157
iteration =
1. 0000 1.3429 g.1o72 7.4098 -0.0145
iteration =
2.0000 1.3284 0. 000z 7.2938  -0.0001
iteration =
3.0000 1.3283 0. 0000 7.2929  -0.0000
7.8
n=1°] o3}

a, =x, =1.8471, b, =b, =2.0000
n=29l ta}A
a, =x, =1.8564 , b, =h, = 2.0000
n=3¢] tjafA

_fay)

3

_ £(1.8564)

X, = a, = 1.8564 , =18571
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7.9

a, =X, =1.6667 , b, =b, = 2.0000
n=1¢] thaj}A]

a, =x, =1.8364, b, =b, =2.0000
n=2c°] thajA

a, =x, =1.8581, b, =b, =2.0000
n=3°] t3}A

a, =X, =1.8605 , b, =b, = 2.0000

n=a0l oaA]
X, =, — @) _q ggon _ TU8605) ) ane
m, 7.1825



7.10

Command Window

>» format long
> [lteration] = regulal’

[teration =

. 000000000000000
PEPRRRERERERPEE
. 2H8652177391:3044
.318404.3704581 77
. 325301 128404969
L 3ET3TIAAZET0509
. 3268001 2316958807
. J281 885200895775
. J2B244°741506807
. 32826161 7467045
. 3282666830301 85
. 32BE268203524270
. J2B2608E0931 9475
. J2B26E 79631 2105
. 3282688380321 26
. 32B268850374802
. 326268854073608
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Fi1°,1.2,1e-08,20)

. 000000000000000
. 000000000000000
.000000000000000
.000000000000000
. 000000000000000
. 000000000000000
. 000000000000000
.000000000000000
.000000000000000
. 000000000000000
. 000000000000000
. 000000000000000
.000000000000000
.000000000000000
. 000000000000000
. 000000000000000
. 000000000000000

7.11

| X, — X, |= 0.1666666666 66667

n=1& st

| X, — X, |=0.012163050624589

n=2% Y3t

| X, — X, |= 0.0000689238 05164 <10°°




| X, — %, |=0.1052631578D4737
n=2% tYstH
| X, — X, |= 0.0520314082 75290
n=3< tidstd
| X, — X, |= 0.0038469067 85379
n=4% st

| X5 — X, |=0.0000868789 35575



